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TrigonometryExercise Answers for No.9012

8 4/89 5489 8 A/89 /89 o 5} {«/7}
CO = -
5 9 8 b 9

,cos(A4) = ,tan(4)=—,csc(4d)=—""",sec(4) = (

89 89 5 8

2 ﬁ, cos(4) = ! ﬁ, tan(A) :g, csc(A4) = @, sec(A4) = ﬁ, cot(A4) :zl , {ﬂ}
53 53 7 2 7 2 o

2 2
x —
,cos(A4) = Z, tan(4) =

Ansl = {sin(A) =

Ans2 = {sin(A) =

4

4 4 X
,csc(4) = m, sec(A4) = ;, cot(4) = ﬁ}
Y x A4 -y 2 2 x
Ansd = { sin(d)=—"_"-,cos(4d)=",tan(4d)=—",csc(4d)="F7——=,sec(4d)=",cot(4) =—F——
2 2 X A4-x X N4—x }

Ans3 = { sin(4) =

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l(

Ans.2 =[y=6cos(8),2 7, 6, [-6,6]] )

Ans.3=[y=sin(20),n, 1,[-1,1]] i 3 11 =

2 {yz—sin(2 nx),red} N

Ans.4:[y=4cos(3 0). 5 4.[-4.4] 12 Pl

0 {y =— cos(i] +4, blue} N

Ans.5:{y=4 sin(—), 10 7, 4, [-4, 4]} 2 \2 )

Ans5 = 5 , Ans6=| [y=-sin(x)-2,black] || —

=] y=Leosay-s £ L[ 2L 2] [1=deod 2] | !

ns.6 = )’—6005( ) 6l 6 6 y=2cos 5 — 4, green 2)

y 7—{—1' 2710 11{11}} { (1) } ¢

ns./=\y= SSm( n6), | 505 I y=-3sin 5 , cyan | 2

(mO N

Ans.8 =| y =-2sin T +2,12,2,[0,4] 2
L = L ‘.( i
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TrigonometryExercise Answers for No.9016
'\/ 33 4 '\/ 33 74/33 7 44/33 :
Ansl = {sin(A) =" ,cos(A4) = tan(A) =", csc(A4) = T sec(A4) = cot(A) =13 }, , { J(j}

Lot 1]

. ,sec(4) = cot(A) =" "
1 4/
Ans3 = sm(A) F cos(4)= F ,tan(A4) =x, csc(A4) = sec(A) A1+x ,cot(4)=
1 1 41—x2_
Ansd = sm(A) x,cos(A)=4/1 —x ,tan(4) = F csc(A4) = K sec(4) :ﬁ, cot(Ad)=—""

X 1 —x X

Ans2 = {sin(A) = 47 cos(4) = é tan(A) = ﬁ ,csc(A) =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=65sin(0),2 m, 6,[-6, 6]]
Ans.3=[y=sin(20),w, 1,[-1,1]] [v=—sin(x) + 3, blue]
] 27 5 X
Ans. 4 =| y=—6sin(5 6),T,6,[-6,6] y:ECOS 5 , green
U ATOEE, |  Sa
s ns.S=|y=- cos( ) 32| 272  Ans6 = y:— sin(2 mx)+2, red ’

0
Ans.6:{y=—6 cos(gj+3, 10 =, 6, [-3,9]} [ =3 cos[ j 3,black}

(m©
Ans.7:[y =4 sm(TJ, 4,4, (-4, 4]}

1 11|14 16
Ans. 8 = y——3sm(4n6)+5—— -

=—" cos(2 TX), cyan}

2’31373

S NI NG N NS Ny N NS
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X

TrigonometryExercise Answers for No.9018

[Page

24/29 5429 2 9 4/ 29 5 :
Ansl = {sin(A) = ,cos(A4) = ,tan(4)=—",csc(4d)=""_",sec(4) = ,cot(4) = —}, , {ﬂ}
29 29 5 2 5 2 A
3473 84/ 73 3 A/ 73 /73 8 :
Ans2 = {Sin(l‘l) = ,cos(4) = ,tan(A4) =, csc(4) = ,sec(4) = ,cot(A4) = _l , { f_)}
73 73 8 3 3 N
_ 6 A/ X2 =36 6 x A X2 =36
Ans3 =|sin(4)=",cos(A)=—",tan(4) =7, csc(4) = sec(A) T, cot(4)="" "
i X X NP =36 A X - 36 6 |
, 2-25 5 A Xt =25 x x
Ans4 =| sin(A4) = ,cos(Ad)=",tan(A)=—""_""",¢cs¢c(4d)=—F———,sec(4d) =", cot(4) =
I x 5 Ax* =25 5 X1 =25
[ Ans. I =[y=sin(0),2m 1,[-1,1]] ] )]
Ans.2=[y=-5co0s(0),2m,5,[-5,5]] N
2n N
Ans.3={y=cos(3 6),7, 1,[-1,1]} [y=—cos(x)—2, cyan] l(
. ;
T - = .
Ans.4={y=4sin(6 9),?4’[_4,4]} [y 3005(3J+2, black} l(
5 ;
0 : .
Ans5 = Ans.5 = [y =4 cos(;j, 6m,4,/[-4, 4]} , Ans6 = [y ( j blue} , l(
1 2w 1 |-19 -17 —_ :
Ans.6:[y=——sin(3 0)—3,— [— —H { Sm( ] red} 2
6 3'6L6° 6 (
no — :
Ans.7 = [y ~ 2 sin(TJ, 10,2, [-2, 2]} _{y 2 COS( 3 ] + 4. green } l(
1 211|-16 -14 2)
Ans.8=|y=——"cos(3n0O)-3,,-,| —, -
L 5 35057 5 ] Lo
SIIKHIID'0:6:0:0:0:0:0:0:00:0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.:0.0:0.0.0:0.0.0:0.0.0.0.0.0.0.:0.0.0.0.0.0:0.00.00.
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TrigonometryExercise Answers for No.9036
44/65 A
b 2

(

Ans]={sin(A)—«/§75 cos(A)—4 tan(A)—ins,csc(A)= 246 Sec(A)_9 cot(A4) =

3 4 3 5 5
Ans2 = {sm(A) =—,co8(4) =" tan(A) = csc(A) = sec(A) = 4, cot(4) = 3
Ans3 = { sin(4) = S ,cos(A4) = tan(A) = csc(A) =—_ sec(A) = cot(A) = }
A9+ x° A9 3

36 — x° —x 6 6 X
Ansd =| sin(4A)=—""1, cos(A)— ytan(4d)=—""—"",csc(4d)=—F7——=,sec(4d)=",cot(4) =—F——=
6 x 36 —x° x 36 —x°
[ Ansi=[y=cos(8),2m 1,[-1,1]] ] )]

Ans.2=[y=-3sin(0),2 m, 3, [-3,3]] A

Ans.3={y:sin(69),£,1,[-1,1]} T 3 («x A

3 y=_sin| — |- 3, green o

T 2 2 )

Ans.4:{y:3sin(46),—,3,[-3,3]} 5 mx -

2 y=—_cos| /|, red o

s A5[ 1 (39)2n1[11ﬂ . 2 N3 )

= ns. =-—_C0S L, | = " = 8 —

s =7 3720272 " [y:—:% sin(%)+4, blue} o

6 .

Ans.6:[y:—5 cos(—j—& 12w, 5, [-8, 2]} X 2

6 y=3sin| 7 |, cyan (

, 7[ Lo ll[ilﬂ ’ )

ns.7 = y——4COS( n0), w2 a L [y=-—cos(x)—3, black] y

(mO Y,

Ans.8 =| y =-2 sin ? -5,12,2,[-7,-3] —(
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TrigonometryExercise Answers for No.9037

[ 439 5 439 84/39 8 5@}’ {ﬁ

Ansl =| sin(A4) = ,cos(A4) = tan(A) = ,esc(A)=—""_—",sec(4) = cot(A) =

L 8 5 39 39 (]
Ans2 =| sin(4) = & gj?, cos(4) = ! «6/5675 tan(4) = 4 csc(A) = «/275, sec(4) :@, cot(4) = Zl , {L()
Ans3 =| sin(A4) = ;, cos(4) = L, tan(4) = 2, csc(A4) = sec(A) = cot(4) =
9+ x° 9 +x° X

1 A =1 +x°
Ansd = { sin(4) =—, cos(4)=———
X X

,tan(4) :ﬁ, csc(A)=x,sec(A4) = m cot(A)=4-1+x ]

=-3 2 3
Ans7:|:y:_3 COS(4TC6),E, 3, [_3’3]} —[y COS( TCX)‘l' ,Cyan]_

1 (=m0 135
Ans.8 = y=—Zsm7 +1’4’Z’ Z’Z

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKKKXXXX XK KKK KKK KKK KKK KL KKK XXX XXX KKKX

[ Ans.l=[y=sin(0),2m 1,[-1,1]] )
Ans.2=[y=-4cos(0),2 m, 4,[-4,4]] N
Ans.3 (3 0), == 1.[-1. 1] )

ns.3=|y= - _ _ A
-tedhom] ]| 3

2 y=_sIn| _ |, green )

Ans.4:{y:—4sin(3 e),—,4,[-4,4]} 2 \2 2
3 [y=-sin(x) -2, blue] A

e .

Ans5 = AnS.5={y=4COS(EJ,6n, 4,[-4,4]} , Ans6 = yz—gcosé —4, red} , l(
1 1[-5-3 :
Ans.6=[y=;cos<6e)— gZL 4ﬂ {y:ésin(%],black} l(
:)

o

2)

o
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TrigonometryExercise Answers for No.9138
447 4 3«/7} {«/7}
7 b 2

,sec(4) = cot(A) =" (

- 5 i

,cot(A) = ol

Ansl = {sin(A) = f cos(A) —i tan(A4) = ﬁ ,csc(A) =

5 9
,csc(A4) = sec(A) =

[ 2 /
Ans3 = { sin(4) = —25 cos(4) = s T, tan(4) = csc(A) = al ; 25 ,sec(4) = cot(A) = %}
AX + A/ x +
A =4+ X 2 A —4+ X

Ans4 = { sin(d)=—""",cos(4)=",tan(4) = T csc(A)=—F—————=,sec(4)="_ cot(A)
X X 4 +x°

Ans2-{s1n(A)—4 cos(A)_@ tan(4) = 4

Ans.l =[y=sin(0),2w, 1,[-1,1]]
Ans.2=[y=4cos(0),2m 4, [-4,4]]

2n .
AnS.3:|:y:COS(3 e),_,l,[-l,l]:|
3 y= 3cos , green
Ans.4 [ 2 '(39)2712[22]}
ns.4=|y=2sin , =, 2, [-2,
’ 3 [ =-3 sm( Jred}
0
Ans5 = Ans.5:[y:2cos(—j, 10 =, 2,['2,2]} , Ans6 = ,
> = cos(2mx) + 3, blue
4 6_[_1. o Sz_l[ﬂﬂﬂ 2
ns.6=|y= 4sm( )5, 32| 40 4 [y—cos();)—Z,cyan]
1 o) 1[-11 PO ER
Ans.7=[y:——sin(n—j, 12’—’[—’—H I [J’ 3sm(3j 4, black} |
3 6 3L3°3

Ans.8 = {y——S sin(3m0O)-— 3 2 , 5, [-8, 2]}

N g S (S R Ny N ?‘N
L |+

><l\)

| E—
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TrigonometryExercise Answers for No.9602
84/89 5 89 /89 8 o
,tan(4) = csc(A) = ,sec(A4) = ,eot(A)==1|, .| ——
89 5 5 o

15 sec(A)— ,cot(4) = 15 "

Ansl = {sin(A) = > ,cos(A4) =

Ans2 = {sin(A) = ,cos(A4) = %, tan(4) = ,cs¢(A) =

—49 +x° 7 —49 + x°

X 7
Ans3 =|sin(A)=—"—"—"",cos(4d)=",tan(4d)=—""_-,csc(4d) =", sec(4) = cot(A) —}
{ x X 7 =49+ 57 A 49 + 7
, 5 A Xt =25 5 x x A X =25
Ansd =|sin(4d)=",cos8(4d)=—"",tan(4d) ==, csc(4d) =T, sec(4d)=—F——,cot(4)=— -
x X =25 5 A X =25 5

Ans. 8 = [y——2cos(4n6) 3%, [-5 -1]}

[ Ans.I=[y=cos(0),2m 1,[-1,1]] l(
Ans.2 =[y=-3sin(0),2m, 3,[-3,3]] '.)
- ) A
Ans.3:[ =sin(60), —, 1,[-1,1 5 :;
Y (66) 3 [ ] {y:——cos(ﬂ)-i-& blue} )(
Ans.4=[y=-4sin(20), n, 4,[-4,4]] 2 : =
0 [y=-2cos(2x)—-2,cyan] N
Ans.5:[y:5cos(—j,8n,5 -5, 5]} X 2)
Ans5 = 4 , Ans6 = y=2sin o ) green , —(
1 n 1|-11 - :
Ans.6=[ —cos(60)— ,;,g,[ s s H [y=cos(x)+ 3, red] 2)
1 111 [y:lsin(2nx), black} (
Ans.7=|y= 6cos ,4,6, 66 L 2 i :)
(
2 E)
(
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TrigonometryExercise Answers for No.9616
442 942 7ﬁ} [ﬁ}
7 8 > b

442 7 9
Ansl = [ sin(4) = ,cos(A4) = 5, tan(4) = ,csc(A4) = ,sec(A4) = ;, cot(4) =

8 A
I 365 4 365 94/65 9 44/65 ) |
Ans2 =| sin(4) = ,cos(4)=",tan(4) = ,esc(A)=—"_",sec(4d)=",cot(4) = }, ,{ﬁ
L 9 9 4 65 4 65 J(
] X 2 X X+ 4 A/ X+ 4 2
Ans3 =| sin(Ad) =—F——,cos8(4)="F7———,tan(4)="_,csc(Ad)=—",sec(4d)=—"_,cot(4)=—"
L X+ 4 X’ +4 2 2 i

Ansd {'(A) - (4) =——— tan(4) =, esc(4) =L iy x}
ns4 =| sin =", CO0S =" ———, tlan =",CSC = , S€C = , CO ="
A+ 16 AP+ 16 x 4 x 4
[ Ans. ] =[y=cos(8),2m, 1, [-1, 1]] ] )]
Ans.2=[y=-6sin(0),2 m, 6,[-6, 6]] N
T _ - 2)
Ans.3=[ —sin(40),—, 1, [-1, 1 2
Y ( )2 [ ] [y=—2sin(£j+3,red} o
27 3 J
Ans.4=|y=6sin(50),—,6,[-6,6] 3 TX -
5 y=—_sin| — |, blue o
0 2 2 )
Ans5 = Ans.5 :[yz 5 sin(zj, 8m, 5, [-5, 5]} Ans6 = [y=cos(x)+ 1, cyan] , —(
1 X ’
| 21 1[-19 -17 — = cosl = :
Ans.6:[y - cos(30)—3,— —, [— —H [y 2 Cos(zj’ gree”} 2
6 36167 6 o
I 1111 { :—icos(ﬂj—4 black} )
Ans.7={y:——sin(4ne),—,—,[—,—ﬂ IR Rt WYY At || =
5 555 o
) 2)
Ans.8 =| y=-3 cos ? +3,12,3,[0,6] —(

[Page 0008]

X

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.10152

5461
61
6485 7485
,cos8(A4) =

85 85

7 A 49 + ¥

Ans3 = { sin(4)=—",cos(4d)=—"""_
X X

A X =36
X

Ansl = {sin(A) = ¢ ,cos(A4) =

6
Ans2 = {sin(A) = , tan(A4) =

Ans4 = { sin(A4) = ,cos(A4) = g, tan(A4) =

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2=[y=—-6cos(0),2 m 6,[-6,6]]

) 27
Ans.3:[y:sm(5 9),—, I,[-1,1]
Ans.4 =

(0
Ans.5:[y=—5 sm(4j 8,5, [-5, 5]}

;sm(4 9)+1 -, = [— —H
—— oS , 10, —, —,—
4 5 414 4

[y=5sin(20),m 5, [-5 5]]

AnsS =
Ans.6 :{

Ans.7:[y:

X [Page = 0009]

6
,tan(4) =g, csc(A4) =

csc(A4) =

A x* =36
6

2
Ans.8={y=—4 sin(5mtH)— l,g, 4,[-5, 3]}

, Ans6 =

~ ; ;
[y = _E cos(2mx)+2, black}

e

sec(4) =

X
[y =3 cos(;}, green}
y——2 sin 2 )~ , cyan

[y=sin(x)— 3, red]

X
COS

el e

@, sec(A4) = JET, cot(A) =§}, ,{

|85

85 7
) = ,cot(A)=—1, ,
6 7 6

7 X
,tan(A4) = 7=, csc(4) = sec(A) =, c0t(4) =
A 49+ Al =49 + ¥
(A4)=—F= (4) =, cot(4) =—— }
, CSC =", S€eC =",CO0 ="
A3 =36 6 A3 - 36

e N e N AN

5
o
)

a

A 49 + x°

-

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.11738
«/33 V)
b 2

3,tan(A)—4«/g csc(A)—7 sec(A)—733 (

33
Amh&mmzﬁiﬂmm:;mmkjg_ Sﬁg 8 3J_l,pq}

S S 3 csc(A4) = sec(A4) = cot(A) = "

Ans3 = sm(A =4/3667 cos(4) =m tan(A)=§, csc(A)=—""" sec( )=""" cot(A)=£
_ NX T2 NX T

5
Ansd = sm(A =—F——,c08(4) =", tan(4) =", csc(4) = sec( )= cot(A) =
A X425 Al X+ 25 X ]

Ansl = {sm(A) = 2 ,cos(A4) = ,cot(4)=

1
I

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2 =[y=-5cos(0),2m 5,[-5,5]]
n [ X |
Ans.3 :[yz cos(4 0), 5, I,[-1,1] {y:—2 sin(Tj -4, black}
Ans.4=[y=4sin(20),m, 4,[-4,4]] 1
0 y=_cos(2x), cyan
) 2
Ans.5 :[y: 5 sm(—j, 8,5, [-5, 5]}
Ans5 = 4 =

, Ans6 = TX
1 2m 1810 y:—20087,green
Ans.6 =|y 351n(59)+3 ==

57313 3 3 (x
1 0 1[-11 yzgsmg -2, red

Ans.7 =|y=—_cos| — |, 8, )

5 4 505’5 [y =sin(x), blue]

2
Ans.8={y=—4 cos(5mH)+ l,g, 4,[-3, 5]}

N N e e AN
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TrigonometryExercise Answers for No.11754
64/13 V)
b 2

Ansl = {sin(A) = LEL ,co8(4) = o tan(A) = W/E ,csc(A) = %, sec(A4) = %, cot(4) = 13 >

7 ;ﬁ 745 7 2«/?} [«/7}

3ﬁ A _2 A A)= A)=" A)=
. , cos( )—7,tan( )= 5 ,csc(A4) = 15 , sec( )—2, cot(4) = 15 y
/ 2 / 2
Ans3—{sm(A)— cos(A)—%, tan(A)=4+xz, csc(A)—2 sec(4) = ﬁ Cot(A):%}
Ans4 =| sin(4 A tan(4) =" A)= = cot(4) =
ns {sm( )= m cos(4) = m an(A4) = csc( )= sec( )= cot(4) = }

Ans2 = [ sin(4) =

1

o
Ans.7=[y =-6 COS(T), 4,6,[-6, 6]}

1 11]-21-19
Ans.8 = y——scos(6n9) 45g ??

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKKKXXX XXX KKK KKK KKK K LKL LKL LXK XK XXKKKX

[ Ans.1=[y=cos(0),2m 1,[-1,1]] 2)
Ans.2=[y=4sin(0),2 m, 4, [-4,4]] A

) 2r 2)

Ans.3:[y:s1n(5 9),7, 1,[-1,1]} —(

2n :—écosi -4, cyan )

Ans.4 = y=2cos(56),T,2,[-2,2] Y=7" 2 » € =

1 o 10-11 [y=-2sin(2nx)—2, green]| )(

Ans5 = Ans.5={y_4c08(6 0), ; Z [Z, ZH , Ans6 = {y:2 sin(%), red} , —(
e .

Ans.6={y=—4 sin(;)+3,6n, 4, [-1,7]} [y=-2cos(2x), blue] l

| [y=sin(x) -2, black] : )(

o

2)

N
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TrigonometryExercise Answers for No.11841
245 3 345 ﬁ} {ﬁ}
5 b 2

,csc(A4) = sec(A) = T, cot(4) = 5 (

oo ] (4]

Ans2 = {sin(A) = > ,co8(A4) = g, tan(4) = > ,csc(A) = 65 ,sec(4) = cot(A) = (

9
. X 6 /36 + X 4/
Ans3 =| sin(4) =—f————=,cos(4d) =—F7———,tan(4) = csc(A) == ,sec(4)= cot(4) =
i A 36+x° 3645 X |
, 6 A X -36 6 x x A X =36
Ans4d =| sin(4A)=",cos(A)=—",tan(4d)=—F7———=,csc(4d) =", sec(4d) =—F——,cot(4 ) ==
i X X A xt =36 6 A3 =36 6 |

Ansl = {sm(A) = 2 ,cos(A4) = ﬁ ,tan(A4) =

(m©
Ans.8=[y=—6 sm(Tj—2 6, 6, [-8, 4]}

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKXXXXXK KKK KKK KL LKL LKL X XXX XXX KKX

Ans. ] =[y=cos(0),2m, 1,[-1,1]] :)
Ans.2=[y=5sin(0),2m, 5, [-5,5]] N
2m } - . 2)

Ans.3 =| y=cos(5 9),—,1,[-1,1] I (x -
[y:—g sm(;j+3,green} A

Ans4={y——3cos(49)—3 [-3, 3]} 1 . 2
yzgsm(Z nx)+4, cyan N

AnsS=| Ans.5 [ 4005( j 10 7, 4, [-4, 4]} , Ans6 = [ (n j } : =
y =2 sin| black |

{ 1 [-19 -17H 2 )

Ans.6 = y:—sm(26) 3,m | T, X -
6L6" 6 [y=—3 cos(—j, red} A

e [ ) . 21[1 1H ’ )
ns. =— cos(Sn ), 22| 2772 L [y=—cos(x)—3, blue] %
2

|
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TrigonometryExercise Answers for No.11842
442 942 9 7ﬁ} [ﬁ}
7 8 > b

Ansl = [ sin(4) = 492 ,c08(A) = ! tan(A) = ,csc(A4) = ,sec(A4) = ;, cot(4) = g >

ki 3413 2«/? 3 J13 i3 COt(A)_z} {ﬂ

Ans2 = _sin(A) =753 cos(A4) = 3 ,tan(A4) = csc(A) =73 sec(A) = 5 =, |
. 3 X 3 4/ 4/
Ans3 =| sin(4) =~ cos(4) =", tan(4) =", csc(4) = sec(A) = cot(4) =
L 9+ x° 9 +x° X ]
, x 16 — x* x 4 4 16 —x°
Ansd =|sin(4d)=",cos(4d)=—"",tan(4d) ==, cs¢c(4d) =", sec(4d)=—F———,cot(4) ==
4 4 16 — x* x 16 — x* X

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=5sin(0),2m, 5, [-5,5]]

) 2n
Ans.3 =| y=sin(5 0), T’ L [-1,1]

] 27
Ans.4={y: 5sin(3 0), T, 5,[-5, 5]}

3 (mx
7 =——sin| —/ |- 3, red
6 P
Ans5=| Ans.5S5=|y=—-4cos| — |, 10m, 4,[-4,4] , Ans6 = . ,
5 [y=sin(x) — 3, blue]

9 11 } [y=2cos(2mx), green]

[yzgcos@ x)—2, cyan}

1 1
Ans.6 = [ :——cos(2 0)+2,m, e [

y
5
55, [y——z sm[Sj black}
Ans.7 = {y——4sm( j10,4,[-4,4] - -
anss=| y=snanoy-1, 4 L[ 22
_ns. y= sm(n) il i |

N N e N AN A
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TrigonometryExercise Answers for No.11901
0 3410 7 74/10 2410 4
,tan(A4)=—""__,csc(4) =T, sec(4) = ccot(A)=—""—"1 |-
20 3 20 3 o

L5 2L e 21 [

,csc(A4) = g, sec(4) = ,cot(4d) = p (

[ 3 2
Ansl =| sin(A4) = cos(A) =

Ans2 = {sm(A) = 6 ,c08(A) =

A/ 25 — X X A/ 25—x2

5 5 X
Ans3 =|sin(A)=—"_""",cos(4d)=",tan(Ad)=—"",csc(4d)=—F————=,sec(4d) =", cot(4 ) = —F——=
5 5 X 2 X 25— 2

tmmA)_

25 —x

B DTN S x 1 2 _Alex _
Ans4—{sm(A)—m,cos(A)—m,tan(A)—x,csc(A)— 1 +x°,sec(4) = B ,cot(A)—x]

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l
Ans.2=[y=-2co0s(0),2m 2,[-2,2]] i . )(

Ans.3 :[yz sin(4 0), g, 1,[-1,1] [y: 3 cos(%j, green} _(

2)

2 —_

Ans.4:{y= 6sin(50), Tn, 6, [-6, 6]} [y: 2 cos[%j, cyan} (

2)

= 1 2 1 |-11 = -

Ans Ans.5 = [y— ——sin(5 0), —n— {_,—H , Ansé = [y:—3 s1n( ) 2, black}’ o
5721272 )

e 2
Ans.6=[y=3cos(zj—4,8n, 3, [-7,-1]} { =—= s1n(2x)+2 red} A
Ans.7=[y=-5sin(2710), 1,5,[-5,5]] _cos(x) 2, blue ] 2
SARERE R
Ans.8 =) y == cos| 7= = 110,71 5 || l(

[REEICSRESRVIONRY 1D:9:9.9.9.9.9.:9:9:9.9:9:9:9:9:9:9.:9.9.9.9.0.9.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.:0:0.:0.0.0.0.9.0:0.0.0.:0.0.0.0:0:0.0.0.9.0.0.0.0:0.0.0.0.0.0.0.4
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TrigonometryExercise Answers for No.11947

X

[Page

6461 5 Jor Je1 6 I
61 6 »UAD=T] T

,cos(A4) = ,tan(4) = csc(A) = ,sec(A4) = (

5

e 4] [

,sec(4) = cot(A) = (

17 17
_ 4 A =16 +x° 4 x x A =16 +x°
Ans3 =|sin(A)=",cos8(A)=—",tan(4d) ==, cs¢c(4)=",sec(4d)=—F7——=,cot(4d) ==
x X A -16 +x* 4 A =16 +x* 4
] 3 X 3 A9 +x° A9 +x° X
Ansd =| sin(Ad) =—F———=,cos(4) ==, tan(4)=",csc(4d) =", sec(4d)=—"",cot(4) =T
A9+ X A9+ x X 3 X 3

5
Ansl = {sin(A) =

7
,csc(A) =

7 8
Ans2 = {sin(A) = ,c08(A) = 5, tan(A4) =

[ Ans.l=[y=sin(0),2m 1,[-1,1]] 2
Ans.2 =[y=-2cos(0),2m, 2,[-2,2]] (

4 3—[—in(56)2—n1[11] 2

i R I [ [y=-2sin(2 nx), cyan] | (

Ans.4 = [y =-2sin(60), E, 2,[-2, 2]} {y =-2 cos(%j -2, black} l(

AnsS = Ans5—[ ——6cos(ej 10n6[66]} Ans6 = [ —é (1] d} 2
nsJ = D= Y= 5 5 nso = y—2sm 3 , re 5 (
P ST E X | R R

[y =_ sin(—] -3, blue} (

i ep i R

Ans.7 =| y =—_cos , 2

3 4 (
Ans8=[y=—4sin(3n9)+3 ,4,[-1, 7]} l(

(V10NN 1D:9:9:9:9:9:9.:9.:9.:9.:9.9.9.9.9.9.0.0.0.0:0.0.0.0.0.0.0.9:0.0.9:9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0:0:0:0:0.:0:0:0:0:0.:0.0.9.9.:9.:0.0.:0.:0.:0.0.0.0.9.9:0.0.0.0.9.0.0.0.0.0.0.0.9.0.0.0.0.4
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TrigonometryExercise Answers for No.11989

B |39 5 |39 84/39 8 5@} {ﬁ

Ansl =|sin(4)=—"",cos(4d)=",tan(A)=—""—_"—",¢csc(A)=—""__,sec(4d) =", cot(4) = .

L g’ 8 5 39 5 39 (.
Ans2 =| sin(A4) = E, cos(A):g, tan(A4) = E, csc(A) = Sﬁ, sec(A)z%, cot(A4) = 7{?}5 »{C
Ans3 = sin(A)=L cos(4) = 2z tan(A)— ,esc(A)=—"" L ,sec(A)=—"— cot(A)—

L X +4 x2+4
Ans4 = sin(A):L cos(A4) = = tan(A)—— csc(A)=—"" rd ,sec(Ad)=—""" xrd cot(A)—

L X +4 X +4 *

i Ans. ] =[y=sin(0),2m 1,[-1,1]] l
Ans.2 = [y =—4cos(0),2 1, 4, [-4, 4]] ) ] )(
Ans.S:[y:cos(4 6),%,1,[-1,1] [yz—%sin(2nx)+3,red} _(

. 2)

Ans.4=[y=—-6 20),m6,[-6,6 -

" Ly sm(e 0 1] {y:—l cos(2 x), blue} A
Ans.S {y 5 cos(—), 81,5, [-5, 5]} 2 )
Ans5 = 4 , Ans6 = 3 (x —
[ 1 21 1 {23 25H [y:551n(5j—4, cyan} o
Ans.6 = y=—"sin(30)+4,—/— —,| —, 2)
6 3’61676 TX -

0 [y 2005( j black} N

Ans.7={y: 4 sin(—j, 10, 4, [-4, 4]} 3 )

5 L [y =-—cos(x), green] -

1 157 o

I Ans.8 = y:—gs1n(2n6)+2,l,§, g,g | l(
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TrigonometryExercise Answers for No.11996

Ansl ={sin(A)=—5, cos(A)=%, tan(A)=TS, csc(A)=—8 155 , sec(A)=§, cot(4) = 7?}, ,{C}
AnsZ:{sin(A): 9,cos(A):§, tan(A):@,csc(A): 8«3/9379 sec(A)zg cot(4) = 5«3/9379}’ ,P/?}

X

) X 7 X 4/ Al X
Ans3 =| sin(4d) =—F———,co8(4d)=—F——,tan(4) =", csc(4) == sec( )=""_" t(A)—
i A X+ 49 A X +49 7 ]
, 5 A Xt =25 5 x A X =25
Ans4=|sin(4d)=—",cos8(A)=—"",tan(4d)=—F7———, csc(4)=— sec(A) ——,cot(d)=—"
i X x Ax =25 A X’ =25 S
[ Ans.i=[y=sin(0),2n 1,[-1,1]] ] )]
Ans.2 =[y=-6cos(0),2m, 6,[-6,6]] (
) 2n 2)
Ans.3=| y=sin(50), == 1,[-1,1] _ I
[y=2cos(2x)—2,cyan] o
n (mx Y,
Ans.4=| y=-5co0s(60), ; ,[-5 y=-2sin T + 3, blue —(
Anss A5[ 1(4931[ HAé S cog = %
nss = ns. y= 5cos s , Ans6 = y=—2cos 3 , red \ o
= 2 :
Ans.6:[y:5cos(3) 5.6, 5, [-10, 0]} Ly C;S(x):x’gree”] l(
1 (n6) 1[-11 i {y =_Esm(7]’ blad‘} Iy
Ans.7=|y=—"sin| —/—|,6,7,| .~ .,
6 3 6166 A
1 2)
Ans.8=| y=-3 cos(4n9)+4,5,3,[1,7] —(
[Page = 0017] XXX XX KKK KX XXX XK XX XXX XK KX XX XXX XX XXX XK KKK XXX XXX XK KKHHHK
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TrigonometryExercise Answers for No.12889
245 3 345 ﬁ} {ﬁ}
5 5 b 2

B
Ansl =| sin(4) = cos(A) =—_,tan(4) = ,esc(A4) = sec(A) = ,cot(4) = 5 >

Ans2 =| sin(4) = 5 f, cos(4) = s ? tan(4) = 8 csc(A) = J?, sec(4) = E, cot(A) :gl , {L()

I Axr=9 3 q/x2—9 X 3]

Ans3 =|sin(A)=—"—"—""—,cos(4d)=",tan(4d) =", c¢csc(4d) =—F—,sec(4) = cot(A)
X X 3 Ax* =9 -9

4/ 1
Ansd = { sin(4) = cos(A) = tan(A) A -1 +x° ,csc(A4) = «/7 sec(A)=x,cot(4) = —]
—1+x A —1 +x°

Ans.l=[y=cos(0),2m, 1,[-1,1]]
Ans.2 =[y=-3sin(0),2m, 3,[-3,3]]
27 i 1 i
Ans.3 :{yz cos(30), T, I,[-1, 1]} [y:gsin@ TX), green}
Ans.4=[y=4cos(20),m 4,[-4,4]] 5
) y——cos , black
1 m 1 11 2 2
Ans.5=|y= —s1n(46) - |
Anss = 2’5155

, Ans6 = T X )
y=-2cos T — 3, blue

0
Ans.6=[y =2 cos(_) -3,8m2,[-5,-1 ]}
4 [y =—cos(x), red]

e e bt | N S
ns./=|y= 45111 s ) 2 12 I y:—2s1n 3 —4, cyan |

1
Ans.8 = [y——4s1n(6n6)+4 ,4, [0, 8]}

e N N N N N N

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKXXX XXX KKK KKK KKK KKK LKL LXK XXX XXKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX XXX X KKK XKL LKL KKK LKL KKK XKL KKK KKK K KKKKKKKKKMS/1-6300102-00019XX

TrigonometryExercise Answers for No.12890
442 942 9 7ﬁ} [ﬁ}
7 8 > b

,csc(A) = ,sec(A) = COt(A) =g (

L o 2Lun-£] [

s csc(A)— ,sec(A)=—""—",cot(4) = 5 "

] 3 X 3 A9+ X A9+ X X
Ans3 =| sin(4) = ﬁ cos(4) = ﬁ tan(A) =77, ese(4) ==, sec(4) =7 7, col(4) =77
9+x 9+ X X

Ans4 {'(A) ATLEX os(A) = tan(A) =+ —1 + (4) = (A)=x, cot(A) = —— ]
ns4 = sin(4) = , cos(A) =, tan —1+x7, csc , Sec X, €O - —
X «/—1+x A -1 +x

. 442 7
Ansl =| sin(A4) = ,cos(A4) = 5, tan(4) =

Ans2 = {sm(A) = 2 ,c08(A) = —5 ,tan(A4) =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2 =[y=-4sin(0),2 m, 4,[-4,4]]
Ans.3=[y=cos(20),n, 1,[-1,1]] -

2m _ nx |
Ans.4:[y:—4 sin(3 6),7, 4, [_4,4]} _y——2 cos > +3,red_
m 1 {-1 1H [y=-2sin(2 nx), black]

1
Ans.5=|y=—"sin(40), =
ns [y sin(4 0), s

AnsS5 = 272

5
, Ans6 = y=5cos(2x)+2,green ,

eyl o
y—zsln 3 , cyan

[y =—cos(x) + 3, blue]

0
Ans.6:{y= 2 sin(zj -3,8m2,[-5, -1]}

2
Ans.7:[y:—6 sin(5 9),;, 6, [ -6, 6]}

1 e} 1146
Ans.8 = y=—gcos| - +1,8,g, 35
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TrigonometryExercise Answers for No.12891

,cos(A4) =

24/29 5 |29 J29 2 I
29 5 g oot =5h T

,tan(4) = csc(A) = ,sec(A4) = (

4f sec(A)—4 co t(A)—#l ,{L()}

5
Ansl = {sin(A) =

Ans2 = {sin(A) = 47 cos(4) = 2 tan(A) = ﬁ ,csc(A) =

/ 2
%, tan(4) = ﬁ, csc(A)=x,sec(A4d) = m cot(A)=4-1+x ]

1
Ans3 = { sin(4)="—",cos(4) =
X

/ 2
Ans4 :{sin(A) = ﬁ, cos(4) :ﬁ, tan(4) = i, csc(Ad)=4/1 +x7, sec(4) :%, cot(A4) :x]
[ Ans.i=[y=sin(0),2m 1,[-1,1]] ] )
Ans.2=[y=-5co0s(0),2m, 5,[-5,5]] A
Ans.3:[y:sin(66),£, 1,[-1,1]} ) |2
3 (mx o
21 {y:3sm(—)—4,cyan} )
Ans.4:{y:—6 cos(50),—, 6 [-6,6]} 3 2
[y =—cos(x), green | A
S IO D i ||
Ans5 = ns. y=-3 cos( )3 3| 373 , Ans6 = y=—2cos(27tx),red 1
Ans.6:{y:—4 cos(gj—4, 10 =, 4, [-8,0]} [y_—i cos( ) black} l(
Ans.7:[y=—2 cos(%e], 10, 2, [-2,2]} - [y=2sin(2x) =2, blue] . l(
4 8{ Lgin(4 76 3ll[ﬂﬁﬂ ]
_ns y——sm(n) >3 33 a

(V10210 1D:9:9:9:9:9:9.9.9.:9.9.:9.:9.9.9.9.0.9.0.0:0.0.0.0.0.0.0.9.0.9.9.9:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0:0.:0:0.:0.:0.0.9.9.:0.:9.0.0.:0.:0.:0.0.0.9.9:0.0.0.0.9.0.0:0.0.0.0.0.9.9.0.0.0:4
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TrigonometryExercise Answers for No.12917
9 5439 8 84/39 «/39 ﬁ
,tan(A4) = 39 ,csc(A4) = 5, sec(4) =?, cot(4) = s

3«7/7 2[ 7 7.5 oy 2> 5} [ }

Ansl = {sm(A) = 2 ,cos(A4) =

2
Ans2 = [ sin(4) = ;, cos(4) =

tan(4) = ,csc(A4) = 5, sec(A) = 15
f\/ x +49
Ans3 = { sin(4) = m cos(4) = m tan(4) = csc(A) == sec(A) = ,cot(4) = ;}
X+ X+

Ansd { =L )= tan(a) = [4-x (4) FE__ (4) == cot(4) rf——}
ns4 = sm = _  ,Co0S = an = .,CSC = SseC =".CO =T —
2 X ’ X ’ 4 _ 2

i Ans.l1=[y=cos(0),2m, 1,[-1,1]] )
Ans.2=[y=4sin(0),2 m, 4, [-4,4]] N
Ans.3:{y=sin(6 9),%,1,[-1, 1]} | [y=—cos(x)- 1, red] l(

o :
Ans.4=[y:—2 cos(3 e),zTn, 2, [-2,2]} {y 231“( 2 j blaCk} 2
9 2%t | 5
Anss = Ans.5=[y=—2sin(gj, 1271,2,[-2,2]} Cans6 ||V T2, ) ereen || l(
. 2m 1[-17 -15 _ [ﬁj,bz }
Ans.6:[yzzsm(3 e)—4,7n,z,{7,7ﬂ [y S\ g ) e l(
Ans.7=[y=—4cos(5n9),§,4,[-4,4]} [y 351“( j” cy“”} l(
[ | (ne) 1[9 n}} )
Ans.8=|y=——"cos| — |+2,8,, —

I 5 4 505 s T
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TrigonometryExercise Answers for No.13099

447
7

Ansl ={sin(A) = f cos(A) —i tan(A4) = J7 ,csc(A) =

Ans2 =| sin(4) = ,cos(A) =

,tan(4) = 5 csc(A4) =

Ans3 = sm(A m cos(4) = F tan(4) = csc(A)—
A X =25 5 A X =25

4
,sec(4) = g, cot(4) =

7

’ F 2 ;{ZTL ! ﬁ, sec(4) :@, cot(4) = é},

P A

,sec(4) =

) 2

o
%

Na

t(A)—

Ans4 = { sin(A4) = T, cos(4) = ;, tan(4) = T, csc(4) = ﬁ sec(A4) = cot(A) ﬁ}
X" — x° =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=5sin(0),2m, 5, [-5,5]]

Ans.3 =[y= sin(6 ), E, 1,[-1, 1]}

T
Ans.4:{y=—6cos(49)5 [-6,6]}
y A5[ 1 392—751{11}} Ans6
nS5— ns y SSln( ) 3 55 555 9 nso = |:
0
Ans.6={y:6sin(zj+4,8n,6,[-2, 10]}

P VR IE !
ns. y= 6sm( i )26 66

(mO
Ans.8 =[y =5 sm(?] +2,12,5,[-3, 7]}

[y=2cos(2x), cyan]

e s3] s
=—"sin| |+
y 2sm2 , green

5 T X )
y=—" cos(—J +2, black}
2 2

[y =sin(x), blue]
[y=3sin(2 tx), red]

S NGB NG N U N N NS
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A]{'A & Ay =25L n(4) =2 eso(4) =X seo(4 2 cot(4 é} {ﬂ}
nsl =\ sin(4) = 34 ,cos(4) = 4 , tan( )—5,csc( )= 3 ,sec(A4) = , cot( )—3, o
7 4/ 65 44/ 65 7 4/ 65 4/ 65 4 :
Ans2 = {sin(A) = ,cos8(A4) = ,tan(4) =", csc(4) = ,sec(A4) = ,cot(4) = —}, , {ﬂ}
65 65 4 7 7 e
ans3 =| sina) = V275 cos(ay=Z, tana =S 4) =L cot(4
ns —_sm( )= - , cos( )—7, an(A4) = ,csc(4) = 49_xz,sec( )_x,co( )_«/7
anst =] sin() = O oy =% tan(ay = et (4) =, cot(4) ===
nsd=| sin(4d)=—"—""—"—,cos(4)="",tan(4) = ,csc(A) = ,sec(A4)=—,co =
I 4 16 — x° X m_
_ )]
Ans. 1 =[y=sin(0),2m, 1,[-1,1]] _(
Ans.2 =[y=4cos(0),2m 4,[-4,4]] )
Ans.3=[y=cos(20),m 1,[-1,1]] I 5 (nx 1] =
- y=--cos| —_ |+ 2, blue (
Ans.4:{y=—4cos(66),;,4,[-4,4]} 25 2 Pl
0 [yz—sin(2nx),cyan} N
Ans.s =[y= 3 cos(—j, 107, 3, [-3, 3]} 2 B
AnsS5 = 5 , Ans6 = X | =
1 11-16 -14 y:—2 COS E —3,green (
Ans.6 = y=—-cos(20)-3,n, _,| —/, )
5 50575 X -
1711 y=3sin| |, red (
Ans.7:[ —cos( j,lO,—,[—,—ﬂ 2 )
4144 L [y=-cos(x) -3, black] —(
2
Ans.8={y=—4cos(3ne)—4,—,4,[-8,0]} )
L 3 ] —(
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X

[Page =

0024]

Ansl = {sin(A) = ¢ f, cos(4) = ! f, tan(A4) =g, csc(A4) =@, sec(A4) = Jg, cot(A) =%}, , {L()}
Ans2 = {sin(A) = > f, cos(4) = ! f, tan(A4) :%, csc(A4) = J?, sec(4) = E, cot(A) :gl , {L()}

A 16 — X A 16 — X
X

X
Ans3 = { sin(4) = 1 ,cos(A4) = Z, tan(4) =

4 4 X
,cs¢(A)="—"F———=,sec(4d)=",cot(4) = —}
A 16 = x* x A 16 =%
o tan(d) == (4) =2, sec(4) = ——==, col(4) 4_)“2}
- ., tan =" ———,CSC =", S€C =", C0 =
2 A4-x X A4-x X

2

X
Ansd = { sin(4) = 5, cos(4) =

Ans.1=[y=cos(0),2m, 1,[-1,1]] _)(

Ans.2 =[y=3sin(0),2 7,3, [-3,3]] 5

Ans.3=[y=cos(20),m, 1,[-1,1]] [y =—sin(x) — 1, blue] —(

2n ‘

Ans.4 =| y=—4 cos(3 9),7, 4,[-4,4]} [y:—3 sin(%j,green} 2)

. 5_[ T 11{11“ [1=2eof %) } !

s — ns.5=|y= 3sm( ),2,3, 373  Ans6— y=2cos 3 + 4, black , l

(6 5 X 3

Ans.6 =| y=-2sin g -512m,2,[-7,-3] y =7 cos| |, cyan 2)

A 7—[—1' 6 ell[ilﬂ { l(ﬁj } i

ns./=1y= 35111( T ),3,3, 33 I y:—2s1n 3 -3, red | :)

e :(

Ans.8 =| y=—4 cos By -4,6,4,[-8,0] )
L - L ( |
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X
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Lo ] [

6 ,co8(4) = 5 tan(A) = ,esc(4) = 12 , sec(d) = COt(A) - 12 o

oot ) [

cse(A) = ,sec(4)=7_,cot(4) = (

57 28 28
Ans3 = { sin(4) = m cos(4) = m tan(4) = csc(A) = sec( )= ,cot(4) = %}
X+ X+

2
Ansl = [ sin(4) =

, 24/ 14 5
Ans2 =| sin(4) = ,c08(A) = 5, tan(A4) =

1 x 1 A1+x ]
Ans4 =| sin(4)=—F7——,cos(4d)=—F7——,tan(4d)=—",csc(Ad) =4/ 1 + z,secA =————,cot(4)=
ns { (4) m (4) m (4) . (A4)=+1+x (4) B (4)=x
Ans.l1=[y=cos(0),2m, 1,[-1,1]] l(
Ans.2=[y=-5sin(0),2 w, 5,[-5,5]] i

Ans.3=[y=sin(20),m, 1,[-1,1]] i 5 X 11 2
- y=_sin — | -3, blue N
Ans.4=[y:3cos(49),z,3,[-3,3]} 2 \3 Pl
| 5 1T 1 [y:3sin[£), black} |
Ans.5=[y=—sm(3 0),—, ~ {—,—H o \2 )
Ans5 = 3’5L5°5 , Ans6=| [y=-sin(x)+1,red] | —(
Ans.6:{y:—4 sin(gj—i 12 7T,4,[-9,-1]:| {y=—2 coSs nx ,cyan} P
. 7_[ IS 11[11}} 3 (x !
ns./ = y——65m( T )2 6l 66 _yz—zcos 5 + 4, green | :)
rereof 3 | )
Ans.8 =| y =-2 cos T -1,8,2,[-3,1] _)

L i ]
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